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Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Both the conversation and the question will be
spoken only once. After each question there will be a pause. During the pause, you must read the
four choices marked A), B), C), and D), and decide which is the best answer.

1. A)
2. A)
C)
3. A)
C)
4. A)
B)
C)
D)
5. A)
B)
C)
D)
6. A)
B)
C)
D)
7. A)
B)
C)
D)
8. A)

250 dollars. B) 300 dollars. C) 350 dollars. D) 400 dollars.
Wife and husband. B) Waiter and customer.

Teacher and student. D) Doctor and patient.

To give a lecture. B) To visit Harvard University.

To read books on archaeology. D) To go to the library.

She hates the weather.
She likes the weather.
She doesn’t think much about the weather.

She would have had the greatest time if the weather could be warmer.

He feels sorry for those students.

He considers the punishment excessive.

He thinks it’s right to punish those students.
He disapproves of what the professor did.

She hopes that Tom will get a better job after school.
She doubts Tom’s ability to edit the newspaper.
She thinks that Tom should get more exercise.
She is critical of Tom’s grades.

Because the woman doesn’t agree with him.
Because the man is unwilling to go home.
Because he likes the weather there.

Because the climate there is not very good.

In a restaurant. B) In a hotel. C) In a concert.

D) At home.

Test One
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10.

A) He’s going away for a while.

B) He did well in the test.

C) He worked hard and earned a lot of money.
D) He didn’t have to work hard for the exam.
A) Susan is a fast worker.

B) Susan did Jack’s homework.

C) Susan didn’t do the homework on her own.
D) Susan has not finished her homework.

B (10%)

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear

some questions. Both the passage and the questions will be spoken only once. After you hear a

question, you must choose the best answer from the four choices marked A), B), C) and D).

Passage One

Questions 11 to 13 are based on the passage you have just heard.

14~

12.

13,

A) The local weather channel is announcing a sudden change of weather tomorrow.

B) A weather analyst is reviewing the weather conditions of the past two days.

C) An announcer is discussing possible changes in the weather over the next few days.

D) A weatherman is giving a forecast of tomorrow’s weather conditions in the country.

A) It was not a fine day yesterday in most parts of the country.

B) The temperature will drop sharply in the country’s southern areas.

C) There’s a big difference in weather conditions between the southern and northern parts of
the country.

D) Tomorrow will still be a fine day in most parts of the country.

A) Most people in the southwest will prefer to stay indoors tomorrow evening.

B) People in most parts of the country have had fine weather since yesterday.

C) There will be a big change in temperature in the southwest tomorrow.

D) Fine weather will soon end and rain will spread over most parts of the country.

Passage Two

Questions 14 to 17 are based on the passage you have just heard.

14.

15:

16.

A) Correspondence schools conduct the students by mail.

B) Correspondence schools conduct the students by radio.

C) Correspondence schools conduct the students through TV programs.
D) Correspondence schools conduct the students by telephone.

A) Because correspondence schools are large.

B) Because there are many classrooms in correspondence schools.

C) Because there are many new instruments in correspondence schools.
D) Because the instructor and the student never meet each other.

A) Because some famous people have graduated from such schools.

Test One




B) Because many people are taking their courses.
C) Because attendance at such schools is free.
D) Because correspondence schools offer a variety of courses.

17. A) Some correspondence schools help people earn a lot of money.
B) Some correspondence schools help people get jobs in big companies.
C) Some correspondence schools help people complete their homework.
D) Some correspondence schools help people read novel.

Passage Three
Questions 18 to 20 are based on the passage you have just heard.
18. A) A popular new system of the world.
B) The renting of home furnishings.
C) The America’s fastest growing business.
D) A new way of saving money.
19. A) Because the rent for the furniture is very low.
B) Because they can thus use better furniture.
C) Because furniture changes fashion very quickly.
D) Because they can hardly afford to buy any furniture.
20. A) Because they can’t afford new furniture.
B) Because they like the idea of renting furniture.
C) Because they liked their rented furniture very much.
D) Because they thought they would soon move to another place.

Directions: In this section, there is a passage with 10 blanks. You are required to select one word for
each blank from a list of choices given in a word bank following the passage. Read the passage
through carefully before making your choices. Each choice in the bank is identified by a letter. You
may not use any of the words in the bank more than once.

R S T R T AR

N N N T T R e

Questions 21 to 30 are based on the following passage.

Benjamin loved to carry the key around, shaking it vigorously. He also liked to try to
21 it into the slot. Because of his tender age and 22 understanding of the need
to position the key just so, he would usually fail. Benjamin was not 23 in the least. He
probably got as much pleasure out of the sounds the key made as he did those few times when the
key actually found its way into the 24

Now both Ellen and I were perfectly happy to allow Benjamin to bang the key near the key
slot. His 25 behavior seemed harmless enough. But I soon observed an interesting

Test One . 3.



26 - Any Chinese staff member nearby would come over to watch Benjamin and, noting
his lack of 27 success, attempt to assist. He or she would hold onto Benjamin’s hand
and, gently but firmly, 28 it directly toward the slot, reposition it as necessary, and help
him to insert it. The “teacher” would then smile somewhat expectantly at Ellen or me, as if
29 a thank you — and on occasion would 30 slightly, as if considering us to be
neglecting our parental duties.

A) slot B) poor C) incomplete D) phenomenon E) guide

F) situation G) awaiting H) bothered I ) initial J ) hoping
K) place L) first M) frown

N) sorry O) exploratory ’

L

B (15%)

Directions: There are 3 passages in this section. Each passage is followed by some questions or
unfinished statements. For each of them there are four choices marked A), B), C) and D). You should
decide on the best choice.

Passage One

Abraham Lincoln, sixteenth President of the United States, was born in Kentucky in 1809, and
died in Washington in 1865, the day after he had been shot by a Southern sympathizer. He is classed
with Washington in greatness of deeds, but is nearer to the heart of all Americans because he sprang
from the ranks of the common people, and rose from the log hut of birth to the White House.

Because his family were pioneers in the newly settled West, he had practically no regular
education, but he held firmly to his purpose to secure knowledge in every possible way. Stories are
told of how he walked miles to secure a book and how he studied by the light of the fire at night
after a hard day at farm work. After a hard struggle as clerk, village postmaster, and surveyor, he
succeeded in passing the bar examinations, and became a lawyer in Springfield, Illinois. In 1846,
he was elected to Congress. In 1858, he might have gained his place in the United States Senate
had he not taken his stand against slavery in the famous debates which he entered with Stephen A.
Douglas. These debates spread his fame throughout the country and led the way for his election to
the presidency in 1860. Very shortly after his election, certain Southern states broke away from the
Union, and the Civil War broke out. This strengthened Lincoln in his resolve to free the slaves and
on January 1, 1863, he declared the Emancipation Proclamation. His second inaugural ( %t 3R )
speech gave his plan for building up the peace of the nation, but he did not live to accomplish his
desire.

Many comparisons have been made of Washington and Lincoln. Each was in the highest sense

a providential (# #9) man raised up for his era, and filled with those outstanding qualities that
enabled him to do the great work of the hour.

31. Lincoln is nearer to the heart of all Americans because

A) he was plain-looking and friendly to people

.@. Test One



B) he was born to an average family

C) he freed the slaves on January 1, 1863

D) he didn’t have any regular education
32. In 1858, Lincoln

A) became a senator B) became a lawyer

C) decided to step into politics D) had a famous debate with Douglas
33. “Bar” in paragraph 2 is related to )

A) jail B) senate C) law D) stick

34. Lincoln became the president in 1860 partly because
A) more people were against slavery than two years ago
B) he had passed the bar examinations
C) he was a self-made statesman
D) people appreciated his performance in the debate with Douglas
35. Which of the following statements is not a common point between Lincoln and Washington?
A) They conducted great deeds when alive.
B) They were highly respected by the Americans.
C) They once were the president of the United States.
D) They were against slavery.

Passage Two

Old people are always saying that the young are not what they were. The same comment is
made from generation to generation and it is always true. It has never been truer than it is today.
The young are better educated. They have a lot more money to spend and enjoy more freedom.
They grow up more quickly and are not so dependent on their parents. They think more for
themselves and do not accept the ideas of their elders. Events which the older generation remember
vividly are nothing more than past history.

The old always assume that they know best for the simple reason that they have been around a
bit longer. They don’t like to feel that their values are being questioned or threatened. And this is
precisely what the young are doing. They are questioning the assumptions of their elders and
disturbing their complacency. Who said that human differences can best be solved through
conventional politics or by violent means? Why have the older generation so often used violence to
solve their problems? Why are they so unhappy and guilty in their personal lives? Can anything be
right with the rat-race? Haven’t the old lost touch with all that is important in life?

Traditionally, the young have turned to their elders for guidance. Today, the situation might
be reversed. The old — if they are prepared to admit it — could learn a thing or two from their
children. One of the biggest lessons they learn is that enjoyment is not “sinful”. It is surely not
wrong to live in the present rather than in the past or future.

36. According to the passage, the young today
A) have more money and freedom
B) are more dependent on the family
C) are forced to remember the old events

D) have more restrictions and problems

Test One . 9.



37. It can be inferred from the passage that
A) nowadays the young and the old have the greatest differences
B) today the old complain more about the young’s behaviors
C) the young are better educated and know more
D) the old remember many old events
38. The young cannot understand
A) why the old often resort to violence or war to solve problems
B) why they should remember those old events
C) why their parents are so possessive of them
D) why they should receive better education
39. “Rat-race” in the second paragraph means 3
A) race of rat B) poor people
C) struggle for social status D) fights among rats
40. The old can learn from the young that
A) one has reason to enjoy life
B) conventional politics is going out of the way
C) receiving better education is very important
D) happiness is the most important thing in life

Passage Three

“ Avoid the rush-hour” must be the slogan of large cities the world over. Wherever you look,
it's people, people, people. The trains which leave or arrive every few minutes are packed: an
endless procession of human sardine tins. The streets are so crowded, and there is hardly room to
move on the pavements. It takes ages for a bus to get to you because the traffic on the roads has
virtually come to a standstill.

Large modern cities are too big to control. They impose their own living conditions on the
people who inhabit them. City-dwellers are obliged by their environment to adopt a wholly
unnatural way of life. They lose touch with the land and rhythm of nature. It is possible to live
such an air-conditioned existence in a large city that you are barely conscious of the seasons. A few
flowers in a public park may remind you that it is spring or summer. A few leaves clinging to the
pavement may remind you that it is autumn. Beyond that, what is going on in nature seems totally
irrelevant. All the simple, good things of life like sunshine and fresh air seem to be separated from
us. Tall buildings block the sun. Traffic fumes pollute the atmosphere. Even the distinction
between day and night is lost. The flow of traffic goes on and on and the noise never stops.

In addition to all this, city-dwellers live under constant threat. The crime rate in most cities is
very high. Houses are armed with alarming system. Cities breed crime and violence and are full of

places you would be afraid to visit at night. If you think about it, only a madman would choose to
live in a large modern city.

41. The author uses in the first paragraph.

A) exaggeration B) parallelism C) comparison D) citation
42. According to the author, who is in control of city-dwellers’ life in big cities?

A) Big cities. B) City-dwellers.
Test One



43.

44.

45.

C) Nature. D) Air—conditioners.
The environment that city-dwellers are living in can be best described as

A) natural B) agreeable C) disgusting D) terrible
Which of the following problems of large cities is not mentioned?

A) Air pollution. B) Noise pollution.

C) Traffic jam. D) Changeable weather.

Which of the following statements is NOT true?

A) Air—conditioners keep people from knowing the changes in seasons.
B) Crime rates in big cities are on the rise.

C) Large cities have many problems.

D) City-dwellers are concerned about their security.

Directions: There are 20 incomplete sentences in this section. For each sentence there are four choices

46.

47.

48.

49.

50.

51

52.

53:

54.

55,

56.

marked A), B), C) and D). Choose the ONE that best completes the sentence.

The teacher asked him to his lateness for school.

A) account of B) account on C) account about D) account for
The only to that building is along the track.

A) exit B) access C) gate D) door

The hotel only speaks a little English.

A) assistant B) resident C) participant D) attendant
Circumstances will force us finally to this policy.

A) adapt B) adopt C) receive D) accept

The police are the records of all those involved in the crime.

A) looking B) finding C) investigating D) inquiring
Don’t to water the plants.

A) deny B) miss C) neglect D) ignore

The young army officer was captain.

A) lifted B) hoisted C) raised D) promoted
A to this problem is expected to be found before long.

A) result B) response C) settlement D) solution
This disturbing experience proved to be , since it taught me never to allow ideas to

become rooted in the mind.

A) as important B) as of importance

C) on great importance , D) of great importance

It’s not polite to when someone is talking.

A) interfere B) interpret C) interrupt D) interval
You must walk slowly if you want the children to you. !

Test One
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A) put up with B) come up with C) keep up with D) go on with

57. Could you please an appointment for me to see Mr. Smith?
A) manage B) arrange C) take D) prepare
58. The talks were the base of the later development.
A) initiative B) initial C) original D) preliminary
59. Mother Teresa had fought very hard for the rights and of the very poorest people
who couldn’t help themselves. :
A) therapy B) welfare C) substance D) retreat
60. It suddenly occurred to Anne that moﬁey couldn’t all that Bob had suffered in the
past five years.
A) live up to B) make out C) make up for D) live through
61. The company’s were well-managed.
A) incomes B) finances C) economics D) salaries
62. Perhaps Lucy would have believed her boy friend’s words had not a strange expression
his face.
_ A) hooked on B) confronted with C) come over D) passed onto
63. After a short holiday, he himself once more to his studies.
A) applied B) engaged C) managed D) conducted

64. The fact that many students don’t follow test directions is an example of how we often
the obvious.

A) slip B) ignore C) overlook D) disregard

65. Depression, unexplained fear and unreasonable actions are the of a patient with
mental health problems.
A) marks B) systems C) symbols D) symptoms

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked
A), B), C) and D). You should choose the one that best fits into the passage.

It is well known that smoking causes harmful side effects; however, we see thousands

smoking. Not only the elderly, 66 young people and children under 18 smoke, in order
to show they 67 — maybe smoking is a 68 of being a grown-up.
69 , smoking has become a serious social problem.

Our government has 70 called on people to 71 smoking. As a result,
many have given up smoking. 72 , a lot more people are joining the ranks of smokers.
73 it is far from enough to 74 the matter to slogans ( ? 5 ). 75 is
necessary is a campaign 76 smoking.

Firstly, I suggest regulations 77 be made to forbid smoking in public places. In
many cities smoking is not 78 in cinemas or in theatres. Smokers have to a. "= by (&
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M) it, 79 they’ll be fined. Why can’t we 80 this as a good example to develop

it in other public places 81 on the trains, in the offices, hotels and so on?
Secondly, I suggest stricter measures 82 taken to impose a tax 83 smokers
for causing pollution. 84 , we'll continue the fight against smoking in the 85

that one day smokers will fully realize the health dangers they face.

66. A) also B) but C) as well " D) as well as
67. A) have grown up B) are growing up

C) have been grown up D) had grown up
68. A) sign B) signal C) symbol D) trace
69. A) However B) Instead C) Accordingly D) Therefore
70. A) consistently B) consciously C) considerably D) consequently
71. A) hold up B) hold down C) hold back from D) hold on to
72. A) After all B) However C) Besides D) In addition
73. A) Nevertheless B) Otherwise C) And D) So
74. A) conclude B) exclude C) confine D) include
75. A) What B) That C) Wherever D) Whenever
76. A) on B) against C) about D) with
77. A) should B) have to C) would D) could
78. A) agreed B) let C) allowed D) followed
79. A) or B) and C) moreover D) though
80. A) look B) keep C) hold D) take
81. A) besides B) as C) such as D) except
82. A) are B) will be C) be D) are to be
83. A) on B) against C) to D) onto
84. A) In other words B) In the last word C) At last D) In a word
85. A) view B) hope C) wish D) fact

Directions: Complete the following sentences by translating the Chinese given in brackets into English.
S S PO —————— T IS

86. My friend invited me to dinner to (%
AMbL B B 3k &) the day before.

87. Before leaving the office they were told that their request would

(HEHER).

88. A few little-known 14th-century poems
(&#tA) some English magazines.

89. (2R Rk 09 R B 4748) made it difficult

Test One . 8.



for me to concentrate on reading.

90. Einstein (/& R/ 4k) , so much so that
he used only a safety razor and water to shave.

Directions: Translate the following passage into English, using the words and phrases given below. 0

R

R

not the least turn out

attac my way home

phenomenon © assist initial somewhat

FEH 21 A4 HARK , B — R &I, A — K ESe iR o RIBAI RN 2 B R—4
WAKER o Nt A B B ASRUL, XA LB B, B AR — LA . AT, BIF R R —
MR- ERERE BB TR, BRI RULERAA . AR AE— P EL IR T, A
BFIEIZR A, RIFEERT , HREE TEK,

Directions: For this part you are allowed 30 minutes to write a composition. The title of your
composition is given. Each paragraph of your composition should use the topic ideas or sentences
and include the following main ideas given in English.

Learning and Love

1) school’s view on love affairs time consuming
give up tear one away
for the sake of fall behind

2) students’ own view on love affairs
no need to forbid
insist
3) my view
take ... as a drive
be infatuated with
failure

.10. Test One



Directions: In this section, you will hear 7 short conversations and 1 long conversation. At the end of
each conversation, one or more questions will be asked about what was said. Both the
conversation and the questions will be spoken only once. After each question there will be a pause.
During the pause, you must read the four choices marked A), B), C) and D), and decide which is the
best answer.

7

A) At the department store. B) At the office.

C) In the post-office. D) In the drug store.

A) To practice writing. B) To stay at home.

C) To spend 3 hours dancing. D) To do some reading in English.
A) Salesgirl and customer. B) Tailor and customer.

C) Consultant and customer. D) Shopkeeper and customer.

A) The meeting was successful.

B) The meeting was not so successful as he had expected.

C) The meeting would have gone better without the woman.
D) The meeting attracted so many audience.

A) They are pleased with their new automobile.

B) They use different transportation every day.

C) They don’t normally drive on this route.

D) They will have to change buses again.

A) Try to find it in the house. B) Repair the roof.
C) Lend his friend a pen. D) Become extremely angry.
A) Next Tuesday. B) Tomorrow. C) Next week. D) Next month.

Questions 8 to 10 are based on the long conversation you have just heard.

8.

A) At a hotel. - B) On the phone.
C) In the manager’s office. D) At home.




